basic quantitative analysis – introduction to sampling

Example assessment questions
Question 1 (2 points)
All graphs shown in this section are based on data collected using the same methods you used in class, but on different populations (different bags of objects).  Which of these statement(s) are true, given the graphs shown?  The second graph shows the percentage of “wrinkly green” pulses in Bag B.  Pick all that apply:
[image: ]
· A sample of 30 pulses is enough to get a reasonable estimate of the proportion of “Wrinkly Green” in bag B and of the diversity of pulses in Bag B
· A sample of 30 pulses is enough to get a reasonable estimate of the proportion of “Wrinkly Green” in bag B, but not large enough to estimate the diversity
· The proportion of ‘Wrinkly Green’ in bag B is exactly 50%
· The proportion of ‘Wrinkly Green’ in bag B is about 50%
· ‘Wrinkly Green’ is more diverse than bag B



Question 2 (2 points)
All graphs shown in this section are based on data collected using the same methods you used in class, but on different populations (different bags of objects).  Which of these statement(s) are true, given the graph shown?  Pick all that apply.
[image: Q1D.jpg]
· We can quite confidently estimate the proportion of “spotty purple” as about 8%, because the plotted values with sample size above 25 are varying around that value
· A sample of 15 pulses is enough to confidently estimate the percentage of both types of pulses in the bag
· “Wrinkly Green” is more diverse than “spotty purple”
· We can quite confidently estimate the proportion of “wrinkly green” as about 50%, because the plotted values with sample size above 25 are varying around that value
· We are less confident about the estimate of the proportion of “spotty purple”, because the plotted values with sample size above 25 are still showing a distinct trend



Question 3 (2 points)
All graphs shown in this section are based on data collected using the same methods you used in class, but on different populations (different bags of objects).  Which of the following statement(s) are true, given the graphs shown below?  Pick all that apply:
[image: ]
[bookmark: _GoBack][image: ]
· Bag B is probably more diverse than Bag A
· Both bags definitely have the same diversity
· Bag A is definitely more diverse than Bag B
· It is not possible to be sure which bag is more diverse because the sample size is too small
· Bag A is probably more diverse than Bag B
· 20 pulses is a large enough sample to estimate the diversity of these bags
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